A000 h

100mm

90

0

8

0

7

0

6

0

5

0

4

0

3

0

2

0

1

0

8 g w 5 3 Q g
: e 518 < 5
5 g = <Z
1S 2
5 2 0 0 2 m =]
0 5 L £ & .
L > © o N T ©
o 2 C o 0
8 S £ = 5 O« : 28
8s K g = S X = : S 3 - o
) 3 & c A P 3 P— e -~
F6 S N .2 o alz| e - £ - .
> £ £ 5|8 = — = -
> 3 = 2l alEs =) <m O < O 5
- w «|z| 5|2 Z - N o w =
9 S & < e121°1% 2 o < | S £ n 9 3
N S 2 lx 2| S NI gl S » 0 O
5 s 5 § 7] 75|84 ] o W o 5 2 » -
55 o = 14 - Y | % o O o
SEg £ ©) = S| =|s |82 X o S
3 - s < u >0 5 3|7 |cg O g S
$85 U sl o < < | 3|8 |;£ > © S
- =2 15 0 |3 = +
m - sl 2[F = . =0 o le| 8l [£3 . S >
E T £ 2K = |Fal.olg |£s 2 s @ s
L . S 5 3 oD 2 |22t | |goE 2 W < s 38
- & 0 <« | ™ o~ - °le ..m < m. = m 0 |8 85 ..m .m —~ .Mk. ;
_— uSE 23|, Ak g 14 s |83 |s5=s|2 |Ea|s |5 X o :
= © A13 ©
/ A\
nm.owum_._u / 3 _ 3 P 3
¥ w18 Py=440 T . T -
\\m.““&“\\|\ o 9/°18=A313 w/.m _ —T Q L6°18=A313 m 7 Q
G9'Z8=A313 = nn v . 4 Wy0'6¢=440 \nvn\ ¥ WLE'Le=440 7
¥ W00'€e=440 & /A e 2 £9°¢8=A113 M\ Jasy. 2 19°28=A313 . 3
S1'e8=AT13 /] ¥ W00'ee=440 ¥ W00'£e=440 /!
¥ Ww00'cZ=440 S eLeg=A314 2 LL'e8=A313 g S
e ¥ WO0'€Z=440 ¥ W00'£Z2=440 S
- o m o m - o w
_ . . - ) _ - .
67'¢8=A313 o Ly '€8=AT13 o S+'e8=A313 /1 o
— o N — o o — o 00
Ww00'0=440 o wo0'0=440 \ > w00'0=440 \ 0
o + o + o) +
| o Fw | () Fw | wn
o _ o _ (@]
GL'e8=A373 N c1'e8=A313 N LLI'e8=A313 \ N
1 wWO0'£2=440 5 1 Wo0'£T=440 O\ X o 1 Wo0'£Z=440 \ \ -
G8'78=A313 o £8'78=A313 R /w N o 18°Z8=A313 M %/ o
7 wW00'ee=440 i o 71 w0 ee=440 I S 7 wW00'ce=440 =Y -
0£°28=A313 \\| < ¥ 61°Z8=A313 ya Q o ¥1°28=A313 M\b X ¥
7 w18’ 9¢=440 o 71 w8y Le=440 N o 7 w0/ L8=440 N o
< i \ i \ i
\
2 \ 2 \ 2
4 | | _ [
o o \ (@]
T T / T
o o o
T il ‘ T
o o o
i T i
o (@] o
= = =
| | |
2 = =
_______—Ul_v_______z - O 91_ _______—Ul_v_______z - 01_ _______—“l_v_______z - 01_
M_ 8_ i © 00 N~ M_ 8_ 00 0 0 M_ 8_ 0 0o 00
Elevation Elevation Elevation
e [
\ _ T, 26°6/=A313 { i _
\\‘ 0 \‘Iu5 Yy E@M.w@"h_w_b\\\\\\\\w el
_ . _ . \\\\\\ - 1- == et
88°'18=A313 3 ad o v9'18=A3 T3 3 — =) T o
d W/6'L9=44Q =l o HEG6E=H0  r 6gz8=pA313 T
65°78=A313 ] ) LG¢8=AITH . s ¥ Woo'ee=43006 A2 )
¥ W0o'ee=110 / ¥ Wo0'ee=440 S0'£8=A313 S
60°¢8=A313 i 7 | S chwu.h._._um_ / S 3 Wo0'eZ=440 2
Yy Wwo0'€Z=440 w/u d wWo0'¢¢=440 w/u
- \ @) m o m - \ o m
— a . o . — T .
¢¥'¢8=A313 / | O Ly £8=A313 @) 0%'¢8=A313 / o
W00"'0=430 \ | R W00'0=140 ° S W00 0=140 \ R
| e id ¥
(@] (@] (@]
w \ | | ) w | o w / | )
! | S ! \| S ! \ S
60°¢8=A313 X | N £0°¢8=A313 N S0'£8=A313 \ N
1 W00'£2=440 \ \ / | - 1 Wo0'£T=440 3\ 5 1 W00'£2=440 . / \ o
6/°28=A313 A | o ££°T8=A313 M M \ o GL'78=A313 TAR 0
7 W00'ee=440 LI | o 7 W00'ee=440 S o 7 W00'ee=440 . ~\| 5
£0°Z8=A313 N | i 00°Z8=A313 VR N i 20°28=A313 7N ¥
71 w/0'88=440 o 71 weg8e =440 N o 7 wl1'8e=440 o
L0 L0 L0
) | | |
@ @ o
/ _ _ _
S S S
| | |
7 o o o
| i g 7
7 o o o
| i i i
7 o o (@]
2 = =
| ! ! !
HHHHHHHHHHHHH HHHHHH = HHHHHHHHHHHH 1 = HHHHHHHHHHHH H -
T B N B - B~ T N B B~ gl gl sl gl e
Elevation Elevation Elevation
o e e LL'6L=A313 G
£9'6/=A313 _ ( ¥ W89'9G=430 -
d WEes=440H s - ® X A s
M L =TT T T A \\\\\\\\ o
T - 9t°'18=AT13 > w\\\\\\ - ““umu\\ -
—7 < v = M — < A =
£GZ8=A313 - \\\\\ Pm.Nwl>un_um_ wee'0vy=440 7 Z 6v'Z8=A313 | — \\\\
¥ wo0'ee=4400 /, 3 e y 3 ¥ Wo0'ee=440 6 / A4 3
£0'£8=A3T13 /| |8 H00ee=440 / 66°28=A313 A Av
¥ W00'£2=440 1/ o LO"E8=A313 o ¥ W00'£2=440 — ]/ o
X / 4 W00'€2=440 5 x |
= I8 e - I8
— T . — T . — T .
8¢'¢8=A313 | o 9¢°'¢8=A313 / o $¢'¢8=A313 / | o
. o O . o 00 . o ©
w00 0=440 w wo0'0=440 \ \ H wo0'0=440 \ H
(@] (@] (@]
| _ L w _ 0 Fw | _ 1@
(@] _ (@] _ o
£0'£8=A313 N >__ 10°¢8=A313 K N 66°28=A313 X
1 wWo0'€Z=440 - 1 wWo0'€Z=440 O\ N o 1 wWO0'$Z=440 ) /, | o
€/£°78=A313 | o L£'Z8=A313 M /x o 69°Z8=A313 M ﬁ@ o
7 W00'ee=440 IS - 7 W00'ee=440 X - 7 wW00'ee=440 I~ o
£1°28=AT13 Y ¥ €1'28=A313 w\b , ~ 20'Z8=A313 )/ \ ol
7 wz6'9¢=440 C o 7 w90°Le=440 - 7w/ £e=440 \ o
L0 L0 L0
_ | \ _
(@] (@] o
/ i , 7 7
2 = 2
| | |
(@] (@] (@]
T il T
(@] (@] (@]
i T T
(@] (@] (@]
© © ©
| | |
= = =
rrrrrrrreryprrrred - 91_ rrrrrrrrrprrrred - 91_ rrrrrrrrryrrerrred - 91_
I N B - - s wl e wl gl e I N~ B B -
Elevation Elevation Elevation

1000 x 707

B1



